ECE 370
HW SET #2


1. A single-phase 2400/120 V transformer is rated at 6 kVA, and has an equivalent circuit impedance referred to the secondary side of Ze2 = 0.0125 + j0.25 Ω. This transformer is connected to a source that produces a 110 /0o V at the load with the full load current at 0.9 lagging power factor. Calculate:
a. Full load current phasor at the load side in polar form
b. Load impedance in polar form
c. Full load current phasor at the source side in polar form
d. Transformer equivalent impedance referred to the primary side in rectangular form
e. Source voltage phasor in polar form



2. [bookmark: _GoBack]The transformer of Problem 1 now is connected to source voltage of 2500 /0o V. The load impedance is still ZL = 2.2 /25.84o Ω. Calculate:
a. Load impedance referred to the primary side in polar form
b. Source current phasor in polar form
c. Load current phasor in polar form
d. Load voltage phasor in polar form

